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QUESTION 1

| Leaft01 | | Leaf102 |

q 2
FIA | | FIB |

VM VM

ESXi Server

Refer to the exhibit. Between Cisco UCS Fls and Cisco ACI leaf switches, CDP is disabled, the LLDP is enabled, and
LACP is in Active mode. Which two discovery protocols and load-balancing mechanism combinations can be
implemented for the DVS? (Choose two.)

A. CDP enabled, LLDP disabled, and LACP Active

B. CDP disabled, LLDP enabled, and MAC Pinning

C. CDP enabled, LLDP disabled, and MAC Pinning

D. CDP enabled, LLDP enabled, and LACP Active

E. CDP enabled, LLDP disabled, and LACP Passive

F. CDP disabled, LLDP enabled, and LACP Passive

Correct Answer: BE

QUESTION 2

An existing Cisco ACI Multi-Site setup with default fabric settings contains endpoints that communicate with an MTU of
1500. What is the minimum MTU value that must be supported by the ISN to allow control plane endpoint information
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exchange between sites?
A. 9000

B. 1554

C. 9100

D. 1600

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/support/docs/cloud-systems-management/application-policy-infrastructure-
controller-apic/214270-configure-aci-multi-site-deployment.html

QUESTION 3

Tenant
Common

SD.BD1 BD-BD? Tenant

@ Production
1M1 12 113
10.1.1.254/24 ﬁ1t'.'r.2.2.254."24t 10.2.2.10/24
Gateway

Refer to the exhibit. An engineer wants to avoid connectivity problems for the endpoint EP1 when it reaches an external
L30ut network through the gateway 10.2.2.254/24. Which two configurations must be implemented in BD-BD2?
(Choose two.)

A. Disable unicast routing

B. Enable IP data plane learning for the VRF

C. Disable ARP flooding

D. Enable ARP flooding
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E. Enable unicast routing

Correct Answer: AC

QUESTION 4

A customer is deploying a new application across two ACI pods that is sensitive to latency and jitter. The application
sets the DSCP values of packets to AF31 and CS6, respectively. Which configuration changes must be made on the
APIC to support the new application and prevent packets from being delayed or dropped between pods?

A. disable DSCP translation policy

B. align the ACI QoS levels and IPN QoS policies

C. disable DSCP mapping on the IPN devices

D. align the custom QoS policy on the EPG site in the customer tenant

Correct Answer: D

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2019/pdf/BRKACI-2210.pdf

QUESTION 5

App_DB Web_App
(AppTenant) (AppTenant)

DE1 App1 Web1 DB2 App2 Web2
(Application1) (Application1) (Application1) {(Application2) (Application2) (Application2)

Refer to the exhibit. Two application profiles are configured in the same tenant and different VRFs. Which contract
scope is configured to allow communication between the two application profiles?

A. global

B. VRF

Latest 300-630 Dumps | 300-630 Study Guide | 300-630 Braindumps 4/5


https://www.geekcert.com/300-630.html
https://www.geekcert.com/300-630.html
https://www.geekcert.com/300-630.html

VCE & PDF https://lwww.geekcert.com/300-630.html
2024 Latest geekcert 300-630 PDF and VCE dumps Download
: GeekCert.com

C. application

D. tenant
Correct Answer: D

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-x/Operating_ACI/guide/b_Cisco_O
perating_ACI/b_Cisco_Operating_ACI_chapter_01000.html
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